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[1] #APCB 880 %4.7 %12
[1-1]F/ 787 ==/ 4.6 0.1 0.3
[12] Y7 aa b7 ==L 28 1 2
[1-3] R Zea b7 ==/l 170 2 5
[1-4]F RS 7B b7 ==L 370 0.2 0.6
[1-4-11 27T F—PCBD 5 H 33 44-T FT77upn b7 =)L (#17) 22 0.2 0.6
[1-4-2] 275 F—PCBD 5> © 344,57 hTF7nut 7 ==/l (#81) tr(0.5) 0.2 0.6
[1-5] X Z 7 an b7 ==L 190 0.3 0.7
[1-5-11 275 F—PCBD 9 5 233 44-~F a7 ==L (#105) 8.2 0.3 0.7
[1-5-2] 275> —PCBD 9 5 23445~ F7un 7 ==L (#114) tr(0.4) 0.3 0.7
[1-53] 27T F—PCBD H 5 23 44,5 F a7 ==L (#118) 30 0.3 0.7
[1-5-4] 275> —PCBD H 5 2' 344,54 7uubt 7 ==L (#123) tr(0.4) 0.3 0.7
[1-5-5] 27T F—PCBD 9 5 33 44,5 Fr7un b7 ==L (#126) nd 0.3 0.7
[1-6] ~FH 7o b7 ==L 92 0.9 2.4
[1-6-11 27 ZF—PCBD 5 5 2,3344,5-~FH o7 ==/ (#156) tr(1.7) 0.9 24
[1-62] 27 FF—PCBD 5 H 23344 5-~FHV /a7 x=/L (#157) nd 0.9 2.4
[1-6-3]1 27 F7F—PCBD 5 5 2,3 44'55-~FHV a7 x=/L (#167) nd 0.9 2.4
[1-6-4] 27 FF—PCBD 5 5 3,344 55-~FHrua b7 x=/L (#169) nd 0.9 2.4
[1-7]~F %/ aobe 7 ==L 22 0.2 0.6
[1-7-11 27 FF—PCBD 5 5 223344 5-~FF7un b7 =)L (#170) 2.6 0.2 0.6
[1-7-2]1 27 FF—PCBD 5 5 2234455 ~FF7unt 7=/ (#180) 7.2 0.2 0.6
[1-7-31 27 FF—PCBD 5 5 2334455 ~FF7unt 7=/ (#189) nd 0.2 0.6
(18] AV Z 7 mn 7 = =/LE 33 0.1 0.2
[1-9] /F 7 ma b7 ==/l tr(0.3) 0.1 0.4
[1-10] FH 7 un 7 = =)L 0.4 0.1 0.3
[2]HCB (~"F¥HronuXEy) 28 3 8
[11] HCH3H 160 X5 %12
[11-1] a-HCH 48 2 4
[11-2] f-HCH 87 1 3
[11-3]y-HCH (B4 : VT V) 23 2 4
[11-4] §-HCH 4.7 0.4 1.0
[14] 7 T)7m:5/71%w1—7/v*”ﬁ (RFEED 4D H10ETDOH D) 170 %19 %48
[14-11F F T 7 0EV 7 =)L =—F )LH tr(7) 4 11
[14-1-112244-FT 570 EY 7 = =)L —F )L (#47) tr(7) 4 11
[14-2] v Z T a7 =) =—F )LH tr(3) 2 6
[14-2-112,2 44 5-~ 20 F T aEV 7 = =)L =—F )L (#99) tr(3) 2 6
[14-3] ~XY T BEY T =)L =—7 )LIF nd 1 2
[14-3-112,2'445,5-~F Y 70 EY 7 == /L= —F )L (#153) nd 1 2
[14-3-212,2' 44 5,6 -~F Y T 0 EY T = = /L= —F )L (#154) nd 1 2
[14-4] ~T X T etV 7 =)L =—7 VI nd 2 4
[14-4-112,2'3,3'4,5,6-~7F 70 EY 7 = =)L —F /L (#175) K U[14-4-2] nd 2 4
2234456 ~FHTOES T =2 —F)1 (#]83)
[14-51 427 # 70 EV 7 = =)L =—F LS nd 1 3
[14-6] / F 7 0EY 7 = =)L =—F /LA 12 3 8
[14-71THT7aETY T = =)L =—T )L 150 6 14
[15] V7 NAaA s ¥ Ak (PFOS) 1,200 30 80
[16] V7 Aty & B (PFOA) 4,700 40 90
[17] =22 7onX P 46 2 6
(
(
(

13) % ERMUR ] FIRIEIEAS FBEEEOE BRI FIRIEOGFHES LT



2019 FEEE=A VT IRBERAE D HTHERE T — KE

20194 AL P BREE JEHE A A A B HuIg I 7 —

EL E=FI T PE
FRABEIR  AE (pg/L)

H 5SS g T

AR bR ) IR P S T

D Tnd I3 A HZ RS S,
7£2) Tt 13 H T IREL b 8 T IRA 2 25,
TE3) 3% RE R ] T BRAEIEA RS 0 E Rl ] T IRMED & EHEE LT,

AR E I EAF B T RRAE | 2 & FRRAE
[20] AR Vb7 2 L 260 %75 %24
[20-1] & /b7 X LU SE 6 1 3
[20-2] VHifkF 7 X L 8 1 4
[20-3] Mtﬁﬂﬁ7§? LR 60 1 4
[20-4] 7 N7k T X LA 170 2 6
[20-5] N2k T7 X LA 14 0.6 1.6
[20-6] ~F Y (kT X LA nd 0.8 2.1
[20-7] ~TF 2 k7 X LA nd 0.6 1.5
[20-8] A2 ZHifv 7 Z L nd 0.5 1.4
22 Xv & ran7 =) — AN E DK T 27 )V 310 %30 %90
[22-1] XA ranaTx)—)L 280 20 60
[22-2] X Z T =Y —) 30 10 30
[23] HEUEHR ST 7 1 8 nd % 1,600 %4,300
[23-1] ¥Rk T B HE 700 200 600
2321 EFbY T 5 tr(600) 500 1,400
[23-3]EFR{L KT ¥ nd 400 1,000
[23-4) ¥R DV T HE nd 500 1,300
[24] ¥ =RV nd 8 13
[25] ~UL 7 LA ~F Y ALk R (PFHXS) 640 30 60
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